

WALLA WALLA PUBLIC SCHOOLS

Request for Proposals Electric Utility Service Provider For Walla Walla High School (Wa-Hi) *ADDENDUM #01*

Issued: January 10, 2019 Due: January 25, 2019 at 4 PM

For further information contact:

Scott Rogers, Senior Project Manager Wenaha Group, Inc. <u>scottr@wenahagroup.com</u>

ADDENDUM #01

Due to questions received from responding proposers, the District is issuing Addendum #01 to clarify information found on Page 7 of the initial Request For Proposals (RFP); ensure that you reference receipt and acknowledgement of Addendum #01 in your Proposal. The RFP due date remains the same as when initially issued.

A. WA-HI USAGE HISTORY AND ANTICIPATED DEMAND

Month	Read Date	Days	KWH Usage
11	11/02/18	29	356,078
10	10/04/18	29	201,324
9	09/05/18	30	169,743
8	08/06/18	32	143,248
7	07/05/18	30	129,819
6	06/05/18	32	136,306
5	05/04/18	29	191,460
4	04/05/18	29	213,752
3	03/07/18	29	328,693
2	02/06/18	29	383,231
1	01/08/18	33	392,560
12	12/06/17	34	465,503
11	11/02/17	29	326,463
10	10/04/17	29	199,969
9	09/05/17	32	184,824
8	08/04/17	30	111,095
7	07/05/17	30	105,738
6	06/05/17	32	153,466
5	05/04/17	29	180,428
4	04/05/17	29	198,292
3	03/07/17	29	306,345
2	02/06/17	31	451,403
1	01/06/17	31	715,307

The summary of usage at the **<u>entire</u>** Wa-Hi campus for the previous (24) months is as follows:

It is anticipated that, after renovations are completed inclusive of new square footage, the demand will be as follows:

Highest Case <mark>Ad</mark>	ditional KV	NH usage based on	new Square Footage:	109 KWH
Existing Square I	Footage:	<mark>235,966</mark>		
<mark>New Square Foo</mark>	otage:	<mark>36,000</mark>		

Peak demand and KVAR are indicated on the extrapolated information provided on the following, pages 3 through 17.

ITEM 74 - ELECTRIC SERVICE

Abbott Rd 4 MODULARS Walla Walla WA General Service--4 Modulars Schedule 24

		1				
From	То	ELAPSED	METER READINGS Previous	Gurrent	METER MULTIPLIER	AMOUNT USED THIS MONTH
Jul 5, 2017	Aug 4, 2017	30	7636	7675	40.0	1,560 kwh
Demand	Aug 4, 2017			0.443	40.0	18 kw
road datas 00 0E	Data marriane dua	An	P			
SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Gurrent	METER	AMOUNT USED THIS MONTH
Aug 4, 2017	Sep 5, 2017	32	7675	7737	40.0	2,480 kwh
Demand	Sep 5, 2017			0.712	40.0	28 kw
tood date: 10.04	Data may year due	to ochod.	!!···-4!			
SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
Sep 5, 2017	Oct 4, 2017	29	7737	7816	40.0	3,160 kwh
Demand	Oct 4, 2017			0.684	40.0	27 kw
SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	Meter Multiplier	AMOUNT USED THIS MONTH
Oct 4, 2017	Nov 2, 2017	29	7816	7894	40.0	3,120 kwh
Demand	Nov 2, 2017			1.004	40.0	40 kw
			METER READINGS		METER	AMOUNT USED
SERVICE PERIOD From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
Nov 2, 2017	Dec 6, 2017	34	7894	8019	40.0	5,000 kwh
Demand	Dec 6, 2017			1.408	40.0	56 kw
Tarray and Array Ar	. .				METER	AMOUNT USED
From	To	DAYS	Previous	Current	MULTIPLIER	AMOUNT USED THIS MONTH
Dec 6, 2017	Jan 8, 2018	33	8019	8206	40.0	7,480 kwh
Demand	Jan 8, 2018			1.435	40.0	57 kw
SERVICE PERIOD	To	ELAPSED			METER	AMOUNT USED THIS MONTH
		29	8206	8314	40.0	4,320 kwh
Demand	Feb 6, 2018			1.239	40.0	50 kw
1	D 1	1	 		L	
SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
Feb 6, 2018	Mar 7, 2018	29	8314	8454	40.0	5,600 kwh
Demand	Mar 7, 2018			1.639	40.0	66 kw
		·	!			
SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	Meter Multiplier	AMOUNT USED THIS MONTH
and the second se						
Mar 7, 2018	Apr 5, 2018	29	8454	8542	40.0	3,520 kwh
-	Jul 5, 2017 Demand SERVICE PERIOD From Aug 4, 2017 Demand Food date: 10-04 SERVICE PERIOD From Sep 5, 2017 Demand SERVICE PERIOD From Oct 4, 2017 Demand SERVICE PERIOD From Nov 2, 2017 Demand SERVICE PERIOD From Dec 6, 2017 Demand SERVICE PERIOD From Dec 6, 2017 Demand SERVICE PERIOD From SERVICE PERIOD From Jan 8, 2018 Demand SERVICE PERIOD From Jan 8, 2018 Demand	FromToJul 5, 2017Aug 4, 2017DemandAug 4, 2017Cond date: 00 OEData manual duringSERVICE PERIODToAug 4, 2017Sep 5, 2017DemandSep 5, 2017DemandSep 5, 2017Sep 5, 2017Oct 4, 2017DemandOct 4, 2017Sep 5, 2017Oct 4, 2017DemandOct 4, 2017DemandOct 4, 2017SERVICE PERIOD FromToOct 4, 2017Nov 2, 2017DemandNov 2, 2017DemandDec 6, 2017DemandDec 6, 2017DemandDec 6, 2017DemandJan 8, 2018SERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToSERVICE PERIOD FromToJan 8, 2018Feb 6, 2018DemandFeb 6, 2018DemandFeb 6, 2018DemandMar 7, 2018DemandMar 7, 2018	FromToDAYSJul 5, 2017Aug 4, 201730DemandAug 4, 201730DemandAug 4, 2017ELAPSEDFromToELAPSEDFromToSERVICE PERIODFromToELAPSEDDemandSep 5, 201732DemandSep 5, 201732DemandSep 5, 201729DemandOct 4, 201729DemandOct 4, 201729DemandOct 4, 201729DemandNov 2, 201729DemandNov 2, 201729DemandNov 2, 201729DemandNov 2, 201729DemandDec 6, 201734DemandDec 6, 201734DemandDec 6, 201734DemandJan 8, 201833DemandJan 8, 201829DemandFeb 6, 201829DemandFeb 6, 201829DemandFeb 6, 201829DemandFeb 6, 201829DemandMar 7, 201829	FromToDAYSPreviousJul 5, 2017Aug 4, 2017307636DemandAug 4, 2017307636DemandAug 4, 2017ELAPSEDMETER READINGSSERVICE PERIODToDAYSPreviousAug 4, 2017Sep 5, 2017327675DemandSep 5, 2017327675DemandSep 5, 2017327675DemandSep 5, 2017DaysPreviousSERVICE PERIODToELAPSEDMETER READINGSFromToDAYSPreviousSep 5, 2017Oct 4, 2017297737DemandOct 4, 2017297816DemandNov 2, 2017297816DemandNov 2, 2017297816DemandNov 2, 2017347894DemandDec 6, 2017347894DemandDec 6, 2017338019SERVICE PERIODToELAPSEDMETER READINGSFromToDAYSPreviousSERVICE PERIODToDAYSPreviousSERVICE PERIODToDAYSPreviousJan 8, 2018Feb 6, 2018338019DemandJan 8, 2018298206DemandFeb 6, 2018METER READINGSFeb 6, 2018Mar 7, 2018298314DemandMar 7, 2018298314	From To DAYS Previous Current Jul 5, 2017 Aug 4, 2017 30 7636 7675 Demand Aug 4, 2017 0.443 0.443 SERVICE PERIOD From To ELAPSED DAYS METER READINGS Previous Current Aug 4, 2017 Sep 5, 2017 32 7675 7737 Demand Sep 5, 2017 0.712 0.712 Too DAYS Previous Current SERVICE PERIOD From To DAYS Previous Current Sep 5, 2017 Oct 4, 2017 29 7737 7816 Demand Oct 4, 2017 29 7816 7894 Demand Nov 2, 2017 29 7816 7894 Demand Nov 2, 2017 29 7816 7894 Demand Nov 2, 2017 34 7894 8019 Demand Dec 6, 2017 34 7894 8019 Demand Dec 6, 2017 34 7894 8019	From To DAYS Previous Current MULTIPLIER Jul 5, 2017 Aug 4, 2017 30 7636 7675 40.0 Demand Aug 4, 2017 0.443 40.0 40.0 SERVICE PERIOD From To DAYS METER READINGS Previous METER MULTIPLIER Aug 4, 2017 Sep 5, 2017 32 7675 7737 40.0 Demand Sep 5, 2017 0.712 40.0 0.712 40.0 Service PERIOD From To ELAPSED DAYS METER READINGS Previous METER MULTIPLIER Sep 5, 2017 Oct 4, 2017 29 7737 7816 40.0 Demand Oct 4, 2017 29 7816 7894 40.0 Service PERIOD From To ELAPSED METER READINGS Previous METER MULTIPLIER Oct 4, 2017 Nov 2, 2017 1.004 40.0 0 0 SERVICE PERIOD From To ELAPSED DAYS METER READINGS Previous METER MULTIPLIER Nov 2, 2017 Dec 6, 2017 </td

METER	SERVICE PERIOD		ELAPSED	METER READINGS	;	METER	AMOUNT USED
NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
50868573	Apr 5, 2018	May 4, 2018	29	8542	8615	40.0	2,920 kwh
50868573	Demand	May 4, 2018			0.612	40.0	24 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	Meter Multiplier	AMOUNT USED THIS MONTH
50868573	May 4, 2018	Jun 5, 2018	32	8615	8690	40.0	3,000 kwh
50868573	Demand	Jun 5, 2018			0.644	40.0	26 kw
METER NUMBER	SERVICE PERIOD From	To	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
50868573	Jun 5, 2018	Jul 5, 2018	30	8690	8731	40.0	1,640 kwh
50868573	Demand	Jul 5, 2018			0.552	40.0	22 kw
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
50868573	Jul 5, 2018	Aug 6, 2018	32	8731	8774	40.0	1,720 kwh
50868573	Demand	Aug 6, 2018			0.547	40.0	22 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	Meter Multiplier	AMOUNT USED THIS MONTH
50868573	Aug 6, 2018	Sep 5, 2018	30	8774	8820	40.0	1,840 kwh
50868573	Demand	Sep 5, 2018			0.547	40.0	22 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
50868573	Sep 5, 2018	Oct 4, 2018	29	8820	8900	40.0	3,200 kwh
50868573	Demand	Oct 4, 2018			0.64	40.0	26 kw
METER NUMBER	SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
NUMBER	1 FTOIN						
50868573	Oct 4, 2018	Nov 2, 2018	29	8900	8982	40.0	3,280 kwh
		Nov 2, 2018 Nov 2, 2018	29	8900	8982 1	40.0 40.0	3,280 kwh 40 kw
50868573	Oct 4, 2018		29 ELAPSED DAYS	METER READINGS			
50868573 50868573 Meter	Oct 4, 2018 Demand	Nov 2, 2018	ELAPSED	METER READINGS Previous	1	40.0 METER	40 kw

ITEM 79 - ELECTRIC SERVICE

W/O 2229 Fern St Track Shed Walla Walla WA General Service To Track Shed Walla Walla High School Schedule 24

METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING	GS Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66870237	Jul 5, 2017	Aug 4, 2017	30	1243	1296	1.0	53 kwh
66870237	Demand	Aug 4, 2017			0.459	1.0	0 kw
METER	SERVICE PERIOD	To	ELAPSED	METER READING	SS Current	METER	AMOUNT USED THIS MONTH
66870237	Aug 4, 2017	Sep 5, 2017	32	1296	1365	1.0	69 kwh
66870237	Demand	Sep 5, 2017			0.755	1.0	1 kw
METER	SERVICE PERIOD	То	ELAPSED	METER READIN Previous	GS Current	METER	AMOUNT USED THIS MONTH
66870237	Sep 5, 2017	Oct 4, 2017	29	1365	1426	1.0	61 kwh
66870237	Demand	Oct 4, 2017			0.98	1.0	1 kw
METER	SERVICE PERIOD	то	ELAPSED	METER READING	GS Current	METER	AMOUNT USED THIS MONTH
66870237	Oct 4, 2017	Nov 2, 2017	29	1426	1494	1.0	68 kwh
66870237	Demand	Nov 2, 2017			0.991	1.0	1 kw
METER NUMBER	SERVICE PERIOD	· · · · · · · · · · · · · · · · · ·	ELAPSED DAYS	METER READIN	GS Current	METER	AMOUNT USED THIS MONTH
66870237	Nov 2, 2017	Dec 6, 2017	34	1494	1567	1.0	73 kwh
66870237	Demand	Dec 6, 2017			0.508	1.0	1 kw
meter Number	SERVICE PERIOD From	То	ELAPSED	METER READIN	GS Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66870237	Dec 6, 2017	Jan 8, 2018	33	1567	1637	1.0	70 kwh
66870237	Demand	Jan 8, 2018			0.467	1.0	0 kw
METER	SERVICE PERIOD		ELAPSED	METER READING	GS Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
NUMBER 66870237	From Jan 8, 2018	To Feb 6, 2018	29	1637	1694	1.0	57 kwh
66870237	Demand	Feb 6, 2018			0.508	1.0	1 kw
				line or weath			AMOUNT LICED
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING Previous	GS Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66870237	Feb 6, 2018	Mar 7, 2018	29	1694	1774	1.0	80 kwh
66870237	Demand	Mar 7, 2018			0.552	1.0	1 kw
METER	SERVICE PERIOD	To	ELAPSED DAYS	METER READING		METER	AMOUNT USED THIS MONTH
66870237	Mar 7, 2018	Apr 5, 2018	29	1774	1868	1.0	94 kwh
66870237	Demand	Apr 5, 2018			0.563	1.0	1 kw

METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER	AMOUNT USED THIS MONTH
66870237	Apr 5, 2018	May 4, 2018	29	1868	1976	1.0	108 kwh
66870237	Demand	May 4, 2018			0.835	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED	METER READINGS Previous	Current	METER	AMOUNT USED THIS MONTH
66870237	May 4, 2018	Jun 5, 2018	32	1976	2085	1.0	109 kwh
66870237	Demand	Jun 5, 2018			0.6	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66870237	Jun 5, 2018	Jul 5, 2018	30	2085	2176	1.0	91 kwh
66870237	Demand	Jul 5, 2018			0.7	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED	METER READINGS Previous	Current	METER	AMOUNT USED THIS MONTH
66870237	Jul 5, 2018	Aug 6, 2018	32	2176	2272	1.0	96 kwh
66870237	Demand	Aug 6, 2018			1.127	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66870237	Aug 6, 2018	Sep 5, 2018	30	2272	2373	1.0	101 kwh
66870237	Demand	Sep 5, 2018			0.812	1.0	1 kw
METER	SERVICE PERIOD	To	ELAPSED	METER READINGS	S Current	METER	AMOUNT USED THIS MONTH
NUMBER 66870237	From Sep 5, 2018	Oct 4, 2018	29	2373	2495	1.0	122 kwh
66870237	Demand	Oct 4, 2018			1.212	1.0	1 kw
METER	SERVICE PERIOD		ELAPSED	METER READINGS		METER	AMOUNT USED
NUMBER	From	To	DAYS	Previous	Current	MULTIPLIER	THIS MONTH 116 kwh
66870237	Oct 4, 2018	Nov 2, 2018	29	2495	2611		
66870237	Demand	Nov 2, 2018	us to cohodu	ling or weather	1.155	1.0	1 kw
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	and the second se	METER MULTIPLIER	AMOUNT USED THIS MONTH
66870237	Nov 2, 2018	Dec 6, 2018	34	2611	2703	1.0	92 kwh
66870237	Demand	Dec 6, 2018			0.516	1.0	1 kw

ITEM 28 - ELECTRIC SERVICE

High Sch-abbott Rd Walla Walla WA Walla Walla H.s/main/gym Wa Large General Service Schedule 48T

					n nu Luigo uo		
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	meter Multiplier	AMOUNT USED THIS MONTH
35815377	Jul 31, 2017	Aug 29, 2017	29	4955	4980	4,000.0	100,000 kwh
35815377	Demand	Aug 29, 2017			0.141	4,000.0	564 onkw
35815377	Demand	Aug 29, 2017			0.078	4,000.0	312 offkw
35815377	Reactive	Aug 29, 2017			0.08	4,000.0	320 kvar
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Gurrent	METER MULTIPLIER	AMOUNT USED THIS MONTH
35815377	Aug 29, 2017	Sep 28, 2017	30	4980	5022	4,000.0	168,000 kwh
35815377	Demand	Sep 28, 2017			0.163	4,000.0	652 onkw
35815377	Demand	Sep 28, 2017			0.099	4,000.0	396 offkw
35815377	Reactive	Sep 28, 2017			0.084	4,000.0	336 kvar
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
35815377	Sep 28, 2017	Oct 27, 2017	29	5022	5067	4,000.0	180,000 kwh
35815377	Demand	Oct 27, 2017			0.277	4,000.0	1,108 onkw
35815377	Demand	Oct 27, 2017			0.288	4,000.0	1,152 offkw
35815377	Reactive	Oct 27, 2017			0.072	4,000.0	288 kvar
METER	SERVICE PERIOD		EL ADOLD				0 00100010 101
NUMBER	From	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER	AMOUNT USED THIS MONTH
35815377	Oct 27, 2017	Nov 30, 2017	34	5067	5144	4,000.0	308,000 kwh
35815377	Demand	Nov 30, 2017			0.421	4,000.0	1,684 onkw
35815377	Demand	Nov 30, 2017			0.363	4,000.0	1,452 offkw
35815377	Reactive	Nov 30, 2017			0.085	4,000.0	340 kvar
Next scheduled	read date: 01-02	Date may yany due	to echodul	ing or wooth as			
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING Previous	S Current	METER	AMOUNT USED THIS MONTH
35815377	Nov 30, 2017	Jan 2, 2018	33	5144	5253	4,000.0	436,000 kwh
35815377	Demand	Jan 2, 2018			0.398	4,000.0	1,592 onkw
35815377	Demand	Jan 2, 2018			0.399	4,000.0	1,596 offkw
35815377	Reactive	Jan 2, 2018			0.085	4,000.0	340 kvar

METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
35815377	Jan 2, 2018	Jan 31, 2018	29	5253	5341	4,000.0	352,000 kwh
35815377	Demand	Jan 31, 2018			0.387	4,000.0	1,548 onkw
35815377	Demand	Jan 31, 2018			0.388	4,000.0	1,552 offkw
35815377	Reactive	Jan 31, 2018			0.086	4,000.0	344 kvar
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
35815377	Jan 31, 2018	Mar 1, 2018	29	5341	5430	4,000.0	356,000 kwh
35815377	Demand	Mar 1, 2018			0.433	4,000.0	1,732 onkw
35815377	Demand	Mar 1, 2018			0.419	4,000.0	1,676 offkw
35815377	Reactive	Mar 1, 2018			0.08	4,000.0	320 kvar
1		<u> </u>	1			Lucrea	
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	S Current	Meter Multiplier	AMOUNT USED THIS MONTH
35815377	Mar 1, 2018	Mar 30, 2018	29	5430	5504	4,000.0	296,000 kwh
35815377	Demand	Mar 30, 2018			0.355	4,000.0	1,420 onkw
35815377	Demand	Mar 30, 2018			0.362	4,000.0	1,448 offkw
35815377	Reactive	Mar 30, 2018			0.079	4,000.0	316 kvar
METER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER	AMOUNT USED THIS MONTH
35815377	Mar 30, 2018	Apr 25, 2018	26	5504	5551	4,000.0	188,000 kwh
35815377	Demand	Apr 25, 2018			0.306	4,000.0	1,224 onkw
35815377	Demand	Apr 25, 2018			0.319	4,000.0	1,276 offkw
35815377	Reactive	Apr 25, 2018			0.075	4,000.0	300 kvar

METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
35815377	Apr 25, 2018	Apr 25, 2018		5551	5551	4,000.0	
78905376	Apr 26, 2018	May 30, 2018		0	43	4,000.0	
		Total	35				172,000 kwh
35815377	Demand	Apr 25, 2018			0.306	4,000.0	
78905376	Demand	May 30, 2018			0.175	4,000.0	1,224 onkw
						Total	1,224 onkw
35815377	Demand	Apr 25, 2018			0.319	4,000.0	
78905376	Demand	May 30, 2018			0.193	4,000.0	1,276 offkw
					-	Total	1,276 offkw
35815377	Reactive	Apr 25, 2018			0.075	4,000.0	
78905376	Reactive	May 30, 2018			0.081	4,000.0	324 kvar
						Total	324 kvar
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING Previous	S Current	METER	AMOUNT USED THIS MONTH
78905376	May 30, 2018	Jun 28, 2018	29	43	72	4,000.0	116,000 kwh
78905376	Demand	Jun 28, 2018			0.142	4,000.0	568 onkw
78905376	Demand	Jun 28, 2018			0.065	4,000.0	260 offkw
78905376	Reactive	Jun 28, 2018			0.077	4,000.0	308 kvar
METER	SERVICE PERIOD		ELAPSED	METER READING	Gurrent	METER	AMOUNT USED THIS MONTH
NUMBER 78905376	From Jun 28, 2018	To Jul 31, 2018	DAYS 33	Previous 72	101	4,000.0	116,000 kwh
78905376	Demand	Jul 31, 2018			0.09	4,000.0	360 onkw
78905376	Demand	Jul 31, 2018	+		0.057	4,000.0	228 offkw
78905376	Reactive	Jul 31, 2018			0.076	4,000.0	304 kvar
METER	SERVICE PERIOD		ELAPSED	METER READING		METER	AMOUNT USED
NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
78905376	Jul 31, 2018	Aug 29, 2018	29	101	134	4,000.0	132,000 kwh
78905376	Demand	Aug 29, 2018			0.133	4,000.0	532 onkw
78905376	Demand	Aug 29, 2018			0.078	4,000.0	312 offkw
78905376	Reactive	Aug 29, 2018			0.084	4,000.0	336 kvar

METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
78905376	Aug 29, 2018	Sep 28, 2018	30	134	173	4,000.0	156,000 kwh
78905376	Demand	Sep 28, 2018		i i i i i i i i i i i i i i i i i i i	0.151	4,000.0	604 onkw
78905376	Demand	Sep 28, 2018			0.086	4,000.0	344 offkw
78905376	Reactive	Sep 28, 2018			0.081	4,000.0	324 kvar
METER	SERVICE PERIOD	1	ELAPSED	METER READINGS	:	METER	AMOUNT USED
NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
78905376	Sep 28, 2018	Oct 29, 2018	31	173	219	4,000.0	184,000 kwh
78905376	Demand	Oct 29, 2018			0.357	4,000.0	1,428 onkw
78905376	Demand	Oct 29, 2018			0.174	4,000.0	696 offkw
78905376	Reactive	Oct 29, 2018			0.072	4,000.0	288 kvar
	SERVICE PERIOD	. .	ELAPSED	METER READINGS		METER	AMOUNT USED
METER NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
78905376	Oct 29, 2018	Nov 30, 2018	32	219	303	4,000.0	336,000 kwh
78905376	Demand	Nov 30, 2018			0.411	4,000.0	1,644 onkw
78905376	Demand	Nov 30, 2018			0.411	4,000.0	1,644 offkw
78905376	Reactive	Nov 30, 2018			0.089	4,000.0	356 kvar
		B 1	1 t - d.	l'			
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
78905376	Nov 30, 2018	Jan 2, 2019	33	303	391	4,000.0	352,000 kwh
78905376	Demand	Jan 2, 2019			0.397	4,000.0	1,588 onkw
78905376	Demand	Jan 2, 2019			0.39	4,000.0	1,560 offkw
78905376	Reactive	Jan 2, 2019			0.083	4,000.0	332 kvar

ITEM 42 - CONTRACT

High Sch-abbott Rd Walla Walla WA Energy Profiler Online Monthly Subscription Schedule PRF

ITEM 44 - ELECTRIC SERVICE

800 Abbott Rd Voc Bldg Walla Walla WA Walla Walla H.s./voc Washington General Service Schedule 24

			ELAPSED	METER READINGS		METER	AMOUNT USED
METER NUMBER	SERVICE PERIOD From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
23552137	Jul 5, 2017	Aug 3, 2017	29	16255	16305	160.0	8,000 kwh
23552137	Demand	Aug 3, 2017			0.305	160.0	49 kw
23552137	Reactive	Aug 3, 2017			0.234	160.0	37 kvar
		D 1	te eshadu	ling or weather			
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Aug 3, 2017	Sep 5, 2017	33	16305	16384	160.0	12,640 kwh
23552137	Demand	Sep 5, 2017			0.441	160.0	71 kw
23552137	Reactive	Sep 5, 2017			0.27	160.0	43 kvar
		D.1	4	line or weathar	•		
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Sep 5, 2017	Oct 4, 2017	29	16384	16479	160.0	15,200 kwh
23552137	Demand	Oct 4, 2017			0.496	160.0	79 kw
23552137	Reactive	Oct 4, 2017			0.323	160.0	52 kvar
						1	
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER	AMOUNT USED THIS MONTH
23552137	Oct 4, 2017	Nov 2, 2017	29	16479	16564	160.0	13,600 kwh
23552137	Demand	Nov 2, 2017			0.444	160.0	71 kw
23552137	Reactive	Nov 2, 2017			0.292	160.0	47 kvar
METER	SERVICE PERIOD		ELAPSED	METER READINGS		METER	AMOUNT USED
NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
23552137	Nov 2, 2017	Dec 5, 2017	33	16564	16702	160.0	22,080 kwh
23552137	Demand	Dec 5, 2017			0.55	160.0	88 kw
23552137	Reactive	Dec 5, 2017			0.346	160.0	55 kvar
METER					0	METER	AMOUNT USED
NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Dec 5, 2017	Jan 8, 2018	34	16702	16891	160.0	30,240 kwh
20002107						1	
23552137	Demand	Jan 8, 2018			0.51	160.0	82 kw

METER	CEDVICE DEDIOD		EI ADOCD	METER DEADING		METED	AMOUNT USED
METER NUMBER	SERVICE PERIOD	To	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	THIS MONTH
23552137	Jan 8, 2018	Feb 5, 2018	28	16891	17020	160.0	20,640 kwh
23552137	Demand	Feb 5, 2018			0.499	160.0	80 kw
23552137	Reactive	Feb 5, 2018			0.298	160.0	48 kvar
METER NUMBER	SERVICE PERIOD	То	ELAPSED	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Feb 5, 2018	Mar 7, 2018	30	17020	17176	160.0	24,960 kwh
23552137	Demand	Mar 7, 2018			0.477	160.0	76 kw
23552137	Reactive	Mar 7, 2018			0.286	160.0	46 kvar
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Gurrent	METER	AMOUNT USED THIS MONTH
23552137	Mar 7, 2018	Apr 5, 2018	29	17176	17302	160.0	20,160 kwh
23552137	Demand	Apr 5, 2018			0.487	160.0	78 kw
23552137	Reactive	Apr 5, 2018			0.285	160.0	46 kvar
METER NUMBER	SERVICE PERIOD	 To	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Apr 5, 2018	May 3, 2018	28	17302	17394	160.0	14,720 kwh
23552137	Demand	May 3, 2018			0.369	160.0	59 kw
23552137	Reactive	May 3, 2018			0.303	160.0	48 kvar
METER	SERVICE PERIOD	*-	ELAPSED	METER READINGS		METER	AMOUNT USED
NUMBER 23552137	From May 3, 2018	To Jun 5, 2018	DAYS 33	Previous 17394	Current 17491	MULTIPLIER 160.0	THIS MONTH 15,520 kwh
23552137	Demand	Jun 5, 2018			0.486	160.0	78 kw
23552137	Reactive	Jun 5, 2018			0.358	160.0	57 kvar
	I		ļ				
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Gurrent	METER	AMOUNT USED THIS MONTH
23552137	Jun 5, 2018	Jul 5, 2018	30	17491	17555	160.0	10,240 kwh
23552137	Demand	Jul 5, 2018			0.487	160.0	78 kw
23552137	Reactive	Jul 5, 2018			0.352	160.0	56 kvar
METER NUMBER	SERVICE PERIOD	To	ELAPSED	METER READINGS		METER	AMOUNT USED
23552137	Jul 5, 2018	To Aug 6, 2018	DAYS 32	Previous 17555	Current 17603	MULTIPLIER 160.0	THIS MONTH 7,680 kwh
23552137	Demand	Aug 6, 2018			0.27	160.0	43 kw
23552137	Reactive	Aug 6, 2018			0.238	160.0	38 kvar
Mast ashadulad	read data: 00 OF	N=1 1					

METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Aug 6, 2018	Sep 5, 2018	30	17603	17667	160.0	10,240 kwh
23552137	Demand	Sep 5, 2018			0.322	160.0	52 kw
23552137	Reactive	Sep 5, 2018			0.261	160.0	42 kvar
meter Number	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Sep 5, 2018	Oct 3, 2018	28	17667	17746	160.0	12,640 kwh
23552137	Demand	Oct 3, 2018			0.389	160.0	62 kw
23552137	Reactive	Oct 3, 2018			0.292	160.0	47 kvar
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
23552137	Oct 3, 2018	Nov 1, 2018	29	17746	17842	160.0	15,360 kwh
23552137	Demand	Nov 1, 2018			0.39	160.0	62 kw
23552137	Reactive	Nov 1, 2018			0.285	160.0	46 kvar
						METER	AMOUNT USED
METER	SERVICE PERIOD	To	ELAPSED	METER READINGS Previous	Current	METER MULTIPLIER	THIS MONTH
NUMBER 23552137	From Nov 1, 2018	Dec 5, 2018	34	17842	18027	160.0	29,600 kwh
23552137	Demand	Dec 5, 2018			0.508	160.0	81 kw
23552137	Reactive	Dec 5, 2018			0.311	160.0	50 kvar

ITEM 54 - ELECTRIC SERVICE

800 Abbott Rd Grn House Walla Walla WA Greenhouse For School District Schedule 24

METED			ELAPSED	METER READ	NGS	METER	AMOUNT USED
METER NUMBER	SERVICE PERIOD From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
66624059	Jul 5, 2017	Aug 4, 2017	30	40970	41575	1.0	605 kwh
66624059	Demand	Aug 4, 2017			1.388	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READ Previous	NGS Current	METER	AMOUNT USED THIS MONTH
66624059	Aug 4, 2017	Sep 5, 2017	32	41575	42107	1.0	532 kwh
66624059	Demand	Sep 5, 2017			1.381	1.0	1 kw
METER	SERVICE PERIOD		ELAPSED	METER READ	INGS	METER	AMOUNT USED
NUMBER	From	To	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
66624059	Sep 5, 2017	Oct 4, 2017	29	42107	42477	1.0	370 kwh
66624059	Demand	Oct 4, 2017			1.398	1.0	1 kw
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READ Previous	INGS Current	METER	AMOUNT USED THIS MONTH
66624059	Oct 4, 2017	Nov 2, 2017	29	42477	42853	1.0	376 kwh
66624059	Demand	Nov 2, 2017			0.622	1.0	1 kw
METER	SERVICE PERIOD		ELAPSED	METER READ	NGS	METER	AMOUNT USED
NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
66624059	Nov 2, 2017	Dec 6, 2017	34	42853	43352	1.0	499 kwh
66624059	Demand	Dec 6, 2017			2.402	1.0	2 kw
METER	SERVICE PERIOD	To	ELAPSED	METER READ		METER	AMOUNT USED THIS MONTH
66624059	Dec 6, 2017	Jan 8, 2018	33	43352	44010	1.0	658 kwh
66624059	Demand	Jan 8, 2018			3.112	1.0	3 kw
METER	SERVICE PERIOD	То	ELAPSED DAYS	METER READ	INGS Current	METER	AMOUNT USED THIS MONTH
66624059	Jan 8, 2018	Feb 6, 2018	29	44010	44458	1.0	448 kwh
66624059	Demand	Feb 6, 2018			2.472	1.0	2 kw
METER NUMBER	SERVICE PERIOD	То	ELAPSED	METER READ	INGS Current	METER	AMOUNT USED THIS MONTH
66624059	Feb 6, 2018	Mar 7, 2018	29	44458	45009	1.0	551 kwh
66624059	Demand	Mar 7, 2018			3.135	1.0	3 kw
METER	SERVICE PERIOD	To	ELAPSED	METER READ	NGS Current	METER	AMOUNT USED THIS MONTH
66624059	Mar 7, 2018	Apr 5, 2018	29	45009	45456	1.0	447 kwh
66624059	Demand	Apr 5, 2018			3.062	1.0	3 kw

METER NUMBER	SERVICE PERIOD From	To	ELAPSED DAYS	METER READINGS Previous	Gurrent	METER	AMOUNT USED THIS MONTH
66624059	Apr 5, 2018	May 4, 2018	29	45456	45901	1.0	445 kwh
66624059	Demand	May 4, 2018			1.823	1.0	2 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READINGS Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66624059	May 4, 2018	Jun 5, 2018	32	45901	46524	1.0	623 kwh
66624059	Demand	Jun 5, 2018			1.481	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66624059	Jun 5, 2018	Jul 5, 2018	30	46524	47257	1.0	733 kwh
66624059	Demand	Jul 5, 2018			1.495	1.0	1 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING Previous	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66624059	Jul 5, 2018	Aug 6, 2018	32	47257	48070	1.0	813 kwh
66624059	Demand	Aug 6, 2018			1.585	1.0	2 kw
METER NUMBER	SERVICE PERIOD From	То	ELAPSED DAYS	METER READING Previous	S Current	METER	AMOUNT USED THIS MONTH
66624059	Aug 6, 2018	Sep 5, 2018	30	48070	48730	1.0	660 kwh
66624059	Demand	Sep 5, 2018			1.535	1.0	2 kw
METER NUMBER	SERVICE PERIOD From	To	ELAPSED	METER READING	S Current	METER	AMOUNT USED THIS MONTH
66624059	Sep 5, 2018	Oct 4, 2018	29	48730	49282	1.0	552 kwh
66624059	Demand	Oct 4, 2018			1.375	1.0	1 kw
METER	SERVICE PERIOD	To	ELAPSED DAYS	METER READING	S Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
66624059	Oct 4, 2018	Nov 2, 2018	29	49282	49701	1.0	419 kwh
66624059	Demand	Nov 2, 2018			1.458	1.0	1 kw
METER	SERVICE PERIOD	T.	ELAPSED	METER READINGS		METER	AMOUNT USED THIS MONTH
NUMBER 66624059	From Nov 2, 2018	To Dec 6, 2018	DAYS 34	49701	50052	1.0	351 kwh
0002-1000	Demand	Dec 6, 2018			1.927	1.0	2 kw

ITEM 67 - ELECTRIC SERVICE

800 Abbott Rd Storage #1 Walla Walla WA Pole Storage Building Commercial Schedule 24

ERVICE PERIOD	То	ELAPSED DAYS	METER READINGS		METER	AMOUNT USED
		UATO	Previous	Current	MULTIPLIER	THIS MONTH
ul 5, 2017	Aug 4, 2017	30	70457	71334	1.0	877 kwh
			• • • • • • • • • • • • • • • • • • • •			
	To	ELAPSED DAYS			METER MULTIPLIER	AMOUNT USED THIS MONTH
-	• •	32	71334	72437	1.0	1,103 kwh
	<u></u>		METER READINGS		METER	AMOUNT USED
rom	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
Sep 5, 2017	Oct 4, 2017	29	72437	73615	1.0	1,178 kwh
EDVICE PERIOD		ELAPSED	METER READINGS		METER	AMOUNT USED
	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
Oct 4, 2017	Nov 2, 2017	29	73615	74914	1.0	1,299 kwh
ERVICE PERIOD		FLAPSED	METER READINGS		METER	AMOUNT USED
	То	DAYS		Current	MULTIPLIER	THIS MONTH
		34	**************************************	76765	1.0	1,851 kwh
			•			
ERVICE PERIOD						AMOUNT USED THIS MONTH
rom	То	DAYS	Previous	Current	MULTIPLIER	
Dec 6, 2017	Jan 8, 2018	33		78877	1.0	2,112 kwh
	· · · · · · · · · · · · · · · · · · ·					
	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
		29	78877	80643	1.0	1,766 kwh
		TI LEAST			METED	AMOUNT USED
		DAYS		Current	MULTIPLIER	THIS MONTH
eb 6, 2018	Mar 7, 2018	29	80643	82145	1.0	1,502 kwh
	То	ELAPSED DAYS	METER READINGS Previous	Current	Meter Multiplier	AMOUNT USED THIS MONTH
Mar 7, 2018	Apr 5, 2018	29	82145	83676	1.0	1,531 kwh
	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
\pr 5, 2018	May 4, 2018	29	83676	84943	1.0	1,267 kwh
	То	ELAPSED DAYS			meter Multiplier	AMOUNT USED THIS MONTH
May 4, 2018	Jun 5, 2018	32	84943	85997	1.0	1,054 kwh
		!				
ERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
Jun 5, 2018	Jul 5, 2018	30	85997	87112	1.0	1,115 kwh
an an etch her	Data may yany dua 4	a a a h a d ul				
ERVICE PERIOD	То	ELAPSED DAYS	METER READINGS Previous	Current	METER MULTIPLIER	AMOUNT USED THIS MONTH
rom	10					
	ERVICE PERIOD rom Sep 5, 2017 Service PERIOD rom Sep 5, 2017 Service PERIOD rom Nov 2, 2017 ERVICE PERIOD rom Nov 2, 2018 ERVICE PERIOD rom Mar 7, 2018 ERVICE PERIOD rom May 4, 2018 ERVICE PERIOD rom	SERVICE PERIOD To Aug 4, 2017 Sep 5, 2018 Sep 5, 2018	SERVICE PERIOD To ELAPSED Aug 4, 2017 Sep 5, 2017 32 Service PERIOD To ELAPSED from To DAYS Sep 5, 2017 Oct 4, 2017 29 SERVICE PERIOD To DAYS from To DAYS Sep 5, 2017 Oct 4, 2017 29 SERVICE PERIOD To DAYS from To DAYS Dot 4, 2017 Nov 2, 2017 29 SERVICE PERIOD To ELAPSED from To DAYS Nov 2, 2017 Dec 6, 2017 34 ERVICE PERIOD To ELAPSED from To DAYS Dec 6, 2017 Jan 8, 2018 33 ERVICE PERIOD To ELAPSED from To DAYS lan 8, 2018 Feb 6, 2018 29 ERVICE PERIOD To DAYS from To DAYS ae 6, 2018 Mar 7, 2018 29 ERVICE PERIOD To	Bit 6, 2017 To ELAPSED METER READINGS DERVICE PERIOD To DAYS Previous SERVICE PERIOD To DAYS METER READINGS Sep 5, 2017 Oct 4, 2017 29 72437 SERVICE PERIOD To DAYS Previous Sep 5, 2017 Oct 4, 2017 29 72437 SERVICE PERIOD To ELAPSED METER READINGS Frevious To DAYS Previous Dot 4, 2017 Nov 2, 2017 29 73615 EERVICE PERIOD To ELAPSED METER READINGS Frevious To DAYS Previous Nov 2, 2017 Dec 6, 2017 34 74914 EERVICE PERIOD To DAYS Previous Frevious To DAYS Previous Service PERIOD To ELAPSED METER READINGS Frevious To DAYS Previous Previous 33 76765 Previous Ian 8, 2018 Feb 6, 2018 29 78877 EE	Aug 4, 2017 To ELAPSED METER READINGS Previous Current Aug 4, 2017 Sep 5, 2017 32 71334 72437 Sep 5, 2017 Oct 4, 2017 29 72437 73615 Sep 5, 2017 Oct 4, 2017 29 72437 73615 Sep 5, 2017 Oct 4, 2017 29 72437 73615 SerVice PERIOD To ELAPSED METER READINGS Current Dot 4, 2017 Nov 2, 2017 29 73615 74914 EERVICE PERIOD To ELAPSED METER READINGS rom To DAYS Previous Current Nov 2, 2017 Dec 6, 2017 34 74914 76765 ERVICE PERIOD To ELAPSED METER READINGS Current Previous Current DAYS Previous Current Service PERIOD To ELAPSED METER READINGS Current Previous Current DAYS Previous Current Pareious Current DAYS Previous Curren	Bit D, 2017 Aug 4, 2017 Col Product EERVICE PERIOD form To ELAPSED DAYS METER READINGS Previous METER MULTIPLIER Aug 4, 2017 Sep 5, 2017 32 71334 72437 1.0 EERVICE PERIOD form To DAYS Previous Current MULTIPLIER Sep 5, 2017 Oct 4, 2017 29 72437 73615 1.0 SERVICE PERIOD from To DAYS Previous Current MULTIPLIER Service PERIOD from To DAYS Previous Current MULTIPLIER Job 2, 2017 Dec 6, 2017 29 73615 74914 1.0 EENVICE PERIOD from To DAYS Previous Current MULTIPLIER Job 2, 2017 Dec 6, 2017 34 74914 76765 1.0 EENVICE PERIOD from To DAYS Previous Current MULTIPLIER Job 2, 2017 Jan 8, 2018 Set 6, 2018 33 76765 78877 1.0 <t< td=""></t<>

METER	SERVICE PERIOD		ELAPSED	METER READIN	GS	METER	AMOUNT USED
NUMBER	From	To	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
66570804	Aug 6, 2018	Sep 5, 2018	30	88051	88953	1.0	902 kwh
METER	SERVICE PERIOD		ELAPSED	METER READIN	GS	METER	AMOUNT USED
NUMBER	From	То	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
66570804	Sep 5, 2018	Oct 4, 2018	29	88953	89763	1.0	810 kwh
METER	SERVICE PERIOD		ELAPSED	METER READIN	65	METER	AMOUNT USED
NUMBER	From	To	DAYS	Previous	Current	MULTIPLIER	THIS MONTH
66570804	Oct 4, 2018	Nov 2, 2018	29	89763	90666	1.0	903 kwh
METER	SERVICE PERIOD	То	ELAPSED	METER READING	GS Current	METER	AMOUNT USED THIS MONTH
66570804	Nov 2, 2018	Dec 6, 2018	34	90666	91977	1.0	1,311 kwh